15. Let A be a 2 x 2 matrix whose entries are real numbers. If A = 2+ 3¢ _is a com-
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general solution to x’ = Ax is:
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13. Given that the general solution of the homogeneous equation
Yy 4+ 3yB) + 3y + o = 0is yp(z) = C; + Cae™® + Caze ™™ + Cyxle™™
the general solution to the corresponding nonhomogeneous equation

y(‘ﬂ + 3y(3) + 3y +y =6xcosx + 6ze™*

-

looks like:
@ y(z) = yp(z) + (Az + B)cosz + (Cr + D)sinz + 2°(Ex + F)e™*

B. y(z) = yp(z) + (Az + B)cosz + (Cx + D)sinz + 2°(Ex + F)e™*
C. y(z) =yp(z)+ (Az + B)cosx + (Cz + D)sinz + z(Ex + F)e

D. y(z) = yp(x) + z(Azx + B)cost + x(Dz + E)sinz + 2 (Fr + G)e™*
E

. y(z) = yn(z) + z(Az + B) cosz + z(Czx + D)sinz + 2*(Ex + F)e™*

undetemised Coeffs :l drrume & porticulor Solubioa
thex has g seme Lorm &5
tha. rishé sola
2. chedk for :2 of the pesticular
Solkion ports thet duplitkte the

ODNT\Q-M%') folubraa ((dhoe Xt it |
until problen Gues amey)



-KX
ricwk i ¢ 6 casx + 6xe
IM ¢ e e T“ . Q‘fQM'&‘
leaChl oouq VS

Gng siarn thow wp togbhar

p: (Az+B)cosx + (Ce+DIsiar + (Ex+F) e

Jo= v e e e« Gy xte™™

@1-!'-')6“ is J«ft;wuas pats of- Ye

Mttty "j L: R (_C-x.t.F-)e*-* net enough

one more: ¥ (Bx+Fle ® st eadugh Lple-* 4o

S H 4“?"‘“"’"“3
. 3 T

ONR M ore . A (Estt'(-—)e sooal nows

3P = (M ‘E‘B) [73% & '\'(C&i-b) fa X + *3 (&fp)e‘-i



d?z dx

21. The oscillation of a spring-mass system is determined by prvy + 33—« + 2z = 0, with

initial conditions z(0) = 1 and %?(O) = —3. Then a sketch of the motion z(t) is
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4. The solution of (322 + y)dz + (2 + 2y)dy = 0 passing through the point (1,1) is

i

A z4+zy+9y*=3 possitly exact 1 Mdr + Ndy =0
B. 22+zy+y°=3 M N

C. z?+z+y*=3 3y 7 I

D. ®+zy+y*=3

E. Bd+sfy+y°=3 is this eeact ?
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15. The matrix [

solution to system x’' = [ 4 =1
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] has repeated eigenvalues of A = 1 and A = 1. If x(¢) is the

] x with initial condition x(0) = [(1)] , find x(1)
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